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S1(—u14ug)+Sa(—us+tuz)+S3(—uz+uys) = —S1u1+(S1—S2)ug+(S2—S3)uz+Ssus
(3.1)
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Sl(—ul + U/2) + 52(—U2 + U3) + Sg(-Ug + U4) = 5161 + 5262 + 5363 (32)
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—51u1 —+ (Sl — SQ)U:Q + (52 — S3)U3 + 53U4 = 5161 + 5262 + 5363 (33)
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F1u1 + FQUQ + F3U3 —+ F4U4 == 51(51 + 52(52 + 5353 (34)
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(S, Bu) = (S, ) (3.5)
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(BTS,u) = (S, Bu) (3.6)
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(F,u) = (B"S,u) = (S,Bu) = (S, 6) (3.8)
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—u1 + ug = 1 (3.10)

obooboobob23000 1000000000 10000Db0000DbO0OD
OO000OO00bO0o00bbOOoUobboOoobboOooboDoDos20b0003.300 5, =
1,5 =0, =000000000000003.1000000000000000

gbobobobooobobobouooooobobobobobobob
gbbogooboogbboobboobbobuoobbooobboon
gbbogbobobuoobbuoobobooobooobbbboobboon
gboboboboogooogboobobobooobobooobobobon
gogbbooooobbbboooo-buoooobbos400

Flul + FQUZ + F3U/3 + F4U4 = §151 + §2(52 + §3(53 (3].].)
s, =1 S, =0 Sz =0
Fi=—1 F, =1 KR =0 F =0
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S — Sy =F, (3.13)
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Py, + Fylly + Fytiz + Fyiy = S10; + S205 + S303 (3.14)
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